=

BR - GI8ERE (FEM29FE)

BIIXE

BEFH FREEVEEMFRE PIRHEI-X BIHA 6 20 6 3.3 900 200 1100 — — — %1
FREBYEERRE /N\FREEI—X (L 60 131 66 2.0 900 200 1100 855.8 716.6 748.5
FREBBEEMFRE PFRBEEI—X BIEA A% 13 38 16 2.4 900 200 1100 831.0 768.6 797.9

BIEA BR 7 13 7 1.9 900 200 1100 — — — %1
BIHA CR 5 18 5 3.6 900 200 1100 — — — %1
ANEFERITRE [FE: 20 50 23 2.2 900 200 1100 813.4 683.6 736.7

EFED BREO—X EFR BIEA 75 215 92 2.3 900 300 1200 870.8 754.8 794.5

BEFE BREO—X #FEER BIEA 48 96 51 1.9 1000 200 1200 903.2 774.4 811.2
BEO—X BEZXTLFR BIHA 52 87 59 1.5 1000 200 1200
BREO—X gt &> A7 LAFR [FE: 36 95 39 2.4 1000 200 1200

EZFEB EZFR BIEA 59 298 59 5.1 900 700 1600 1333.6 1239.0 1278.2
HEFH BIEA 35 66 37 1.8 800 200 1000 876.3 665.8 732.7

TEED BRI AT LERTFR BIHA 36 88 42 2.1 900 200 1100 860.4 643.2 701.2
BF - BRIFER [FE: 48 94 54 1.7 900 200 1100
FIREHEA S AT LA T BIEA 36 69 43 1.6 900 200 1100
MRBRE T2 BIEA 36 45 39 1.2 900 200 1100

BFED ICREMRFER BIHA 100 216 122 1.8 900 200 1100 842.4 685.4 732.4

BEFE FREBYEERRE DEHEI-X = 2 12 2 6.0 900 200 1100 — - - %1
FREBPEENFE NFREEI-—X &HA 18 87 18 4.8 900 200 1100 862.2 747.2 776.5
FREBYBEENRE PFREEI—X %HA 7 24 8 3.0 900 200 1100 — — — %1
ANEFERITIRE %HA 11 26 15 1.7 900 200 1100 790.6 678.4 742.9

AR BREO—X EFR = 35 81 36 2.3 900 300 1200 888.4 770.9 821.6

E= 2 BEI—X #BEFER &HA 16 76 16 4.8 900 200 1100 878.2 774.4 801.3
BEO—X BEIRXTLAER %HA 16 81 17 4.8 900 200 1100
BfEO—X gttt X7 LAFR %HA 13 57 14 4.1 900 200 1100

EFEB EFR = 25 257 25 10.3 1200 300 1500 1367.6 1287.0 1317.3

T2 LBEIATLERTER &H 12 45 15 3.0 900 100 1000 792.8 602.8 696.4
BF - BRIFEHN %HA 16 47 17 2.8 900 100 1000
FIREMEAR S X5 LA T# Y %HA 12 25 12 2.1 900 100 1000
MRELRE TR = 12 33 15 2.2 900 100 1000

BFE ISREMRIER & 25 50 25 2.0 800 50 850 674.6 535.8 608.1

X1 BEFHOFREBELDEEBMFEDOTRRI—XR - RICDVTIFE. GIRERBEZARULIEA.
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